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BA_ECONOMICS_SEM_VI
RA-267 Rural Economics XIV

Time: One Hour Max. Marks: 40

Instruction:
Attempt All Questions.

1 What is mean by rural development.

AT faee FEuT f?
(A) Improvement in financial (B) Improvements in social (C)Both Aand B (D)None of the above
condition status T eyrfor &r ar=ar I T ATEr

e ferdidier geamoT aTATHE ferdider gamoT

2 Let's go to the village, this message was given by

(A)Mahatma Gandhi (B)Dr B.R. Ambedkar (C)Mahatma Phule (D)None of the above
HETCAT I ST a7 AW ATSH T HETEAT Fel O ATAr

3 Major tool for job creation in rural areas
TTHTOT HIRTTE T AT A ST araeT

(A)Industrial sector (B)Agricultural sector (C)Service sector (D)AIl of the above
AT &= EAIEES GEIPES T |

4 Establishment of ministry of food processing industries
T THAT IS HATAATET ST

(A)1988 (B)1888 (C)1998 (D)1980

5 Limited to rural areas.
TTTOT YT AT AATRT &7

(A)Agricultural sector (B)Industrial sector (C)Service sector (D)Food processing industries
FVT & T & TR =TT AT ITTT

6 The following substance are not made in the milk processing industries.

(A)Milk powder (B)Butter (C)Lassi (D)None of the
T qTasY AT T FO I ATAr

7 objectives of rural development.
TRATOT FaereT=T 35

(A)Educational facility (B)To development the (C)Industry formation in the (D)AIl of the
construction agricultural sector in the village T g
Sragfora gyfarar fTT v village RFETST ST R F7r

ST T ey i

8 The "ldeal Village" is the concept.
SATEIT UTH & Hhed ...

(A)Sant Gadge Maharaj (B)Mahatma Phule (C)Mahatma Gandhi (D)None of the above
e TSI THENTST TETEAT Tl HETAT T FOAIEr ATAr

9 Rural development will reduce the gap between rural and urban areas
TTTOT (T es TTTOT ATTOT 9TeeT T Ter &9 FHT &5 o

(A)Correct (B)Wrong (C)Both A and B (D)None of the above
. -+  sifor 4t dreg T e

10 This industries are included in the food processing industry.
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(C)Rice milling
diges Aot

(C)Lack of market
TR ST 2TT

(A)Dairy processing (B)Puslse milling
g wisear AT

11 Which of the following is not the problem of rural development.
FTATAT AT TTHTOT (aehraT=r ST T8

(A)Lack of capital (B)Lack of infrastructure
ST ITHT TETE AT ST

12 Rural economy is based on the...............
TTHIIT ST AT 3T 3118 ..o

(A)Agricultural sector (B)Industrial sector

FNT & IR &
13 Which of the following wink options is odd?

FTATATERN FITAT I T FIT ATATIT TRAT FLOY I ATE

(A)Sugar industry
AT IR

(B)Cloth industry
FIS IINT

(A) Employment Guarantee
scheme

TSI &HT AT
15 Which of the following options is odd.
FTATATH [T T3 AT ...
(B)Fisheries
HOH 499 ™

(B)Clean bharat
Eq=5, HILd

(A)Dairy processing industry
T T=RaT I=IT

16 For which task grants are necessary to grampanchayat.
UTTIETAATAT AT FATATST ATEFTAT ATITRAT AT

(B)Task
Fofaas faam FETEEr

(A)Social welfare

QAT S dTr

17 Industrial sector developed in rural areas.
TRTTOT {TITT AT &7=T=T faahre ST av.
(A)Employment will be created (B) The agricultural sector will

T T Ao be develop
ER IR I INEEIE R EE

18 For which task irrigation project Are necessary?

(A)Increase agricultural (B) Employment growth
production T AT
FIT IR a8
19 Establishment of Central Water Commission?
HETT ST A= SITIAT.
(A)1947 (B)1945
1947 1945

(C)Service sector

HAT &7

(C)Steel industry
AT JETT

(C)Jalyukt Shivar
EEEEN] AN

(C)Goat farm
STAITAT

(C)Both A and B
w swfor 4t &

(C)The development of the
service sector will be a
boost

HATa==T (e arder

(C)Drought prevention
TS AT

(C)1950
1950

20 Which of the following is the main resource of small irrigation projects.

THA A HaT Thear @reiiel ara- 3ad.
(B)Fence duct

FOATART

(A)Small canals

o

(C)Well
fafear
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(D)AIl of the above
T q9

(D)More competition

T ETET

(D)None of the above

FO U ATAE

(D)Dairy processing industry
BERIERIECIn

(D)Mahanagar Vikas Yojana
TR fasre FrsET

(D)Jalyukt Shivar
EEEES) HIGI

(D)Neither A and B
T SATfor &7 ATEr

(D)AIl of the above
T q9

(D)AIl of the above
T q9

(D)1951
1951

(D)AIl of the above
T q



21 Self- help groups.
S AT e
(A)Are female members only
Fdes ATeeT 9T Aqara Hges {6Y a1 FEard
22 Launch of clean Bharat Abhiyan.

(B)Are male members only

24 The beginning of Mahatma Gandhi National Rural Employment Guarantee scheme H&TcHT T IS TTHTIT ST §HT

=g, AT ATHIHET g5ard.
(A)Dr Manmohan Singh (B)Narendra Modi
ST qTAIET [T T AED
23 Launch of jalyukt Shivar Yojana.
A F [9a Trer-=r eara
(A)Pankaja Munde (B)Narendra Modi
AT GEATT ..
(A)2 October 2009 (B)2 October 2008
2 stFe@ET 2009 2 ifge@ET 2008
25 The beginning of clean Bharat Abhiyan
=g, YT AT g&ara
(A)2 October 2009 (B)2 October 2014
2 staeET 2009 2 tge@ET 2014
26 Job card.
T T

(A)Mahatma Gandhi National (B)Employment Guarantee
Rural Employment scheme of Maharashtra

(C)Both A and B
T HATfor 4T &

(C)VP Singh
a8 T T

(C)Vasantrao Naik
FHATT AR S

(C)26 January 2009
26 SHaETr 2009

(C)2 October 2015
2 AteerET 2015

(C)Jalyukt Shivar scheme
SATIET IRTAT

(D)Neither a and b
T AT{oT &7 ATAr

(D)None of the above

AT AT

(D)None of the above
FEATE ATEr

(D)26 January 2006
26 ST=ETr 2006

(D)None of the above

T T8

(D)None of the above

TSt AT

27 Which of the following reasons is not responsible for the Migration of rural population? JTTTIT ATHEEAT SIATATETST

Guarantee HENTSE ST &6 AT
HETCHT TS TS a aror
TSI &HT AT
|TATATH T FEIT TG T8 2
(A)Employment (B)Trade
T AT
28 What does the milk industry related to?
TV AT & HITIT AT A8 ?
(A)Agriculture sector (B) Industrial sector
TN & ST &
29 When did the drought-prone area programme (DPAP) ?
RIS (TSI &7 FERATT EaTe deal SATeAT?
(A)1970 (B)1973
1970 1973
30 Rural development depends on which of the following ?
TTHTOT e AT F9TaT HaAdT e,
(A)Agricultural Development  (B)Road development
ERINEETE Te= faae
31 Describe the characteristics of the rural population.
(A)llliteracy (B)High literacy rate
Frarar TraTa= THTI STTET

(C)Entertainment
FIHI[R

(C)Service sector

HAT &

(C)1972
1972

(C)Electrification

feregeirezor

(D)Education
Foreror

(D)None of the above
I ATE

(D)1971
1971

(D)AIl of the above
T q9

(C)High literacy rate of women (D)Low mortality rate

qfeedr areaT T e FH gegRT

9911C52A6916B06BDB9874EB 7TFE504E8



32 Milk Industries comesiin ........ industries.

(A)Small industries

EEEDIN

33 Oil seed industry is a industry.

(B)Heavy industries

TS JENT

(C)Rural Industries

YTHTIT FEIAT

(A)Food processing industries (B)Agro based industries (C)Rural Industries

STIRAT I FOT ATATET =TT DICILECEIT

34 Goat rearing business is related to........
STAMITAT AT &l ----mmmmmmm gefaa = .

(A)Agriculture sector (B)Small scale industries (C)Trade
e g T AT

35 e, Is a village level development Institutions.
......... T AaY. (e ST EET o1,

(A)Nagar Palika (B)Panchayat Samiti (C)Gram Panchayat
RS ET EEIDERCIE I T

36 i, recommended to start Employment Guarantee scheme in Maharashtra.
HENTSE TSI &HT AT g% ®0AE! (R ... T e

(A)Vasantrao Naik (B)Yashwantrao chavan (C)V.S page
FEAT TSR TIE AT TR faaanr

37 problem is there in front of rural industry.
TN STRTEAT ... U 3ATed .

(A) Insufficient capital supply
YT HTSa J¥aer

(B)Lack of technical knowledge (C)Lack of skilled labour
CENIGIEIRCEIES FIT TSI ST

(C)1990
1990

39 Which of the following are the factors that cause rural warming?

FTATAT S UTHIVT ATIHFETE RN Sed HIurd?

(A)Deforestation (B)Damage to the environment (C)Increase in the number of
TEArs AT BT vehicles
TE=AT G T a1

40 In which year was the integrated rural development programme applied in India?
AT VAT 9T T o TTHTOT (e dE s ] AT ?
(A)2 October 1980 (B)2 October 1981
2 sfi#2ET 1980 2 wtFeiaT 1981

(C)2 October 1985
2 rFeraT 1985
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(D)None of the above

A A

(D)AIl of the above
T q9

(D)None of the above
T YT AATA

(D)AIl of the above
I q9

(D)Sharad Pawar
INE 99T

(D)AII of above
O q9

(D)1972
1972

(D)AIl of the above
T q9

(D)None of the above
T AT



